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Instructions for the Candidates

Write your Seat No. and OMR Sheet No. in the space provided

on the top of this page.

This paper consists of 75 objective type questions. Each question

will carry two marks. All questions of Paper-III will be compulsory,

covering entire syllabus (including all electives, without options).

At the commencement of examination, the question booklet

will be given to the student. In the first 5 minutes, you are

requested to open the booklet and compulsorily examine it as
follows :

@) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal or open booklet.

(i) Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to missing pages/
questions or questions repeated or not in serial
order or any other discrepancy should not be
accepted and correct booklet should be obtained
from the invigilator within the period of 5 minutes.
Afterwards, neither the Question Booklet will be
replaced nor any extra time will be given. The same
may please be noted.

(@ii) After this verification is over, the OMR Sheet Number
should be entered on this Test Booklet.

Each question has four alternative responses marked (A), (B),

(C) and (D). You have to darken the circle as indicated below on

the correct response against each item.

Example : where (C) is the correct response.

ONON NO,

Your responses to the items are to be indicated in the OMR
Sheet given inside the Booklet only. If you mark at any place
other than in the circle in the OMR Sheet, it will not be evaluated.
Read instructions given inside carefully.

Rough Work is to be done at the end of this booklet.

If you write your Name, Seat Number, Phone Number or put
any mark on any part of the OMR Sheet, except for the space
allotted for the relevant entries, which may disclose your
identity, or use abusive language or employ any other unfair
means, you will render yourself liable to disqualification.
You have to return original OMR Sheet to the invigilator at the
end of the examination compulsorily and must not carry it with
you outside the Examination Hall. You are, however, allowed
to carry the Test Booklet and duplicate copy of OMR Sheet on
conclusion of examination.

Use only Blue/Black Ball point pen.

Use of any calculator or log table, etc., is prohibited.
There is no negative marking for incorrect answers.
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ECONOMICS
Paper III

AL ITET
gyautent II1

Time Allowed : 2% Hours] [Maximum Marks : 150
Note : This Question Paper contains Seventy Five (75) multiple choice questions.
Each question carries Two (2) marks. Attempt All questions.

A ¢ A GRAUCTRT THY Ueewl (75) Sgudidl WA fol oed. Woad W & (2)
U SRd. @E U Wi

1. Select the right answer from options

(A) to (D) as below : 1. el (A) 9 (D) 31 TFiE Scditen! ST

Assertion (S) : A shift in aggre- ERCIIECERCTURE
gate demand wfareT (S) : fazard SIS
curve due to
expansionery fis- RO HYul Hayofia
cal policy always .
increases aggre- FITHTTT Hehel 3cqTG

gate output in
the complete

S N ITHeS Hehed

Keynesian ARTUfersh  EXaRAl.
model. -

Reasoning (R) : This happens be- IHER (R) :® WS, FRU TRl
cause aggregate RIS TYU YT
supply curve is
always upward GfaHTa =edl STl
sloping in com-
plete Keynesian Hehdich :
model.

Codes : (A) (S) & &R A1 (R) § SR

(A) (S) is correct and (R) is correct (B) (S) < AT (R) ¥ aReR

(B) (S)isincorrect and (R) is correct

(C) (S)is correct and (R) is incorrect (C) (S) & SRR 37 (R) g

(D) (S) is incorrect and (R) is

D) (8) ® g 31 (R) B I

incorrect

3 [P.T.O.



Choose the right answer from the
options (A) to (D) given below :

Assertion (S) : In the classical
model, no equili-
brium  other
than full-
employment is

possible.

Reasoning (R): This is ensured
by a negatively
sloping AD curve
and a vertical

AS curve.
Codes :
(A) (S)is correct but (R) is incorrect
(B) Both (S) and (R) are correct
(C) Both (S) and (R) are incorrect
(D) (S)isincorrect and (R) is correct

In Mundell-Fleming open economy
macro-economic model, balance of

payment curve is horizontal

when :

(A) Capital mobility is imperfect
(B) Capital mobility is perfect
(C) Capital mobility is prohibited

(D) Capital mobility is fixed
quantity

2.
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@t (A) T (D) a1 TREmYT Ard St
e &0

gfqures (S) : fyHa Ty wfaamm,
quf  dsRrsafafiEd
T HIEA B0 e Bl
A&

gferare (R) : A= @1 990l oTcHe
AD Feh 3710 fafases
AS ST TR Bl

Tehdieh :

(A) (S) MM WG (R) ¥ I%
(B) == (S) 37for (R) SR
(C) ==l (S) = (R) <

D) (S) 9% WY (R) & K
HSA-TFRATHT ool efeaed=q qHf

anfefer wfdTa STASEIa AR dleeig

(C) Wieeel TAAUNe] sel TRid
(D) Hiead TATaeome qRem frer
A




In the growth literature beta
convergence refers to :

(A) Reduction in the dispersion of
income levels across countries

(B) Increase in the dispersion of
income levels across countries

(C) Poor economies grow faster
than rich economies

(D) Rich economies grow faster
than poor economies

In an economy, given MPC = 0.8
and tax-rate = 0.2, an increase in
autonomous investment of 360 will
lead to an increase in output of :

(A) 1500
(B) 1000
(C) 2000
(D) 2500

The Harrod-Domar growth model
suggests that growth is ............ .

(A) directly related to savings and
inversely related to the capital/
output ratio

(B) directly related to capital/output
ratio and inversely related to
savings

(C) indirectly related to savings and
capital/output ratio

(D) directly related to savings and
capital/output ratio

APR - 11317/11II—C
SITYFST Aifecrd o1 (Beta) STTERom=1
Tey welieish! HIMEN STl ?
(A) FAFHT ACETAT a4+ Laara
YR ¥ B

(B) T H SET=HT 3 =T
YRN8

(C) TIet STefcgawen SiHd STieqaduean

N o

firer S faerfaa B

(D) sitvq sTeieqeen T TeTeEanian

e Stmm foasfaa g
Fefeeedd foeiel geg MPC = 0.8 37iftn
F-T = 0.2 WIQ [qEUehd 360 A
I AT SIS aTe fohelt Bleal 2

(A) 1500
(B) 1000
(C) 2000
(D) 2500

Hre-IR T It TR
............................ Eer= k> ke poror

(A) IEdEl 92 ST Wiedd/Scae
TR faes

(B) wWiSadl/Scared JHoms & anfor
ARt faes

(C) Judt 9 Wiead/3cqred JHTImSH
HIT &

(D) s=dl 9 Wiedd/3caeT  JHTOmS
ISk

[P.T.O.



Which of the following are used in
project evaluation, correct operation
of public policy and programming in

the economy ?

(A) Shadow prices
(B) Market prices
(C) Hidden prices
(D) Substitute prices

Taxation, Public Borrowing and
Public Expenditure by Government
are the measures of ......................

policy.

(A) Fiscal
(B) Monetary
(C) Credit
(D) Industrial

Which of the following is most

populous state in India ?
(A) Maharashtra

(B) Bihar

(C) West Bengal

(D) Uttar Pradesh

APR - 11317/111—C

AN A N o~ e~
LllAlctien| enlYIC] Henl=Al [enHATH] ATHY

FFHTE N Tehed HeIHIT, HIaSI(eh
RO 1T el 07 HHshH A
shefl Sl ?

(A) B ferwt
(B) SR fohwdt
(C) g= fohwat
(D) AR fenwet
HISISITeh Y, ol ST W Bt LR

(C) 9a

(D) ArEfies

AT Ueh] TRATdT  ShI0edT ST

AhEEd Falfad 3Tg 2
(A) HENTSE

(B) feer

(C) ufee™ &ma

(D) SERIRY




10.

11.

12.

Which one of the Five Year Plans
in India emphsised on co-operative

fedaralism ?

(A) Tenth Five Year Plan
(B) Ninth Five Year Plan
(C) Eleventh Five Year Plan
(D) Seventh Five Year Plan
Fill up the blanks :

In recent years, the revenue from
both excise and custom have shown
............................... trend as percentage

of Gross Tax Revenues.
(A) declining

(B) increasing

(C) constant

(D) fluctuating

The net collection of National Small

Saving Fund is invested in :
(A) Defence
(B) Heavy Industries

(C) Central and State Government

Securities

(D) Share Capital

10.

11.

12.
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YA STeieidehl ShIocal Terelisieh
ALY Heh 9o T dere) fasiy
W I ST 3T 2

N

KK

(A) TTET TSR

o N

(B) ot g=Etieh JIST

5

[aXd N

(9)) IR ECIEE R ISE]
(D) Hqal d=dftier SIS
R S 99

FAfcTeh el lesld ScaeIgesh ST el

eI TR Heger=l THUT X

(A) st
(B) dreit
(C) fer

(D) aAfEeRr
T eTeue=a M= feae mega

(A) GRETOTHETS
(B) 3TaSIE SN
(C) =g Tfor o= gfaygde

(D) 9T STSaard

[P.T.O.



13.

14.

15.

In Budget 16-17, the ratio of interest
payments to net tax revenue is

estimated to :
(A) 32%

(B) 46.7%
(C) 30.3%
(D) 33%

The Golden Rule of Fiscal Policy
refers to borrowing made by the

Government for ........cccoccueeeenn. .
(A) Current Expenditure

(B) Financing Fiscal Deficit
(C) Meeting Financial Crisis
(D) Investment

In which Budget, the centrally

sponsored schemes were

restructured and classified into 66
programmes for the effective

implementation ?

(A) Budget 2015-16
(B) Budget 2014-15
(C) Budget 2013-14

(D) Budget 2011-12

13.

14.

15.
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2016-17<AT TLHHIAHES TS THAT

THUT Y TR JoRR et Sfafed
Hd AR ?

(A) 32 TFh
(B) 46.7 TFh
(C) 30.3 =Fh
(D) 33 =&

(A) =Tq] T=EEE!

(B) USRI qr=
HLOITETS

(C) foxita erfise 2TevamEt
(D) AR
%5 R Al FTel STHASTSTavl

FITATETS AT GAALAAT ST 66

EREZEERI

ASHHEN TR0 hIveT TR

FOIT 3R ?
(A) 2015-16
(B) 2014-15
(C) 2013-14

(D) 2011-12




16.

17.

An accommodating capital inflow for

a country implies :

(A) Balance of Payments is in

surplus

(B) Balance of Payments is in
deficit

(C) Balance of Payments
fluctuates between surplus and
deficit

(D) Balance of Payments is in

equilibrium

Which of the following agreements

is not under WTO rules ?
(A) Agreement on Agriculture
(B) Agreement on Rules of Origin

(C) Agreement on Trade Related

Intellectual Property Rights

(D) Agreement on Trade Related

Outsourcing

16.

17.
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TR QRIS e SR TS e

(A) HIRRA ToeAshi=n 378

(B) FERRA qerdl e

(C) HeRRAIeTd STfEeR Ao g2 =

T S ot feior 8

(D) SIeRAA dqferd 3T

EeiTeAdeh! ShIOAT hiR SINTdeh oATIR

TueTen fammsd gaifase AEr ?

(A) FHt faoas IR

(B) gz =4 faoges R

(C) =aranreh ffed dlifger TueT gorh

h{l{

(D) =NRET ffea ey &4

[P.T.O.



18. Match the following :

(@)

)

(c)
(d)

@)

(i1)
(i)

@)

List I

Globalization may allow highly
polluting industries to move to

pollution haven

The Environmental Kuznets

curve
Activist trade policy agreements

The new theory of strategic
trade policy

List II

Why countries might gain from

promoting particular industries
Where regulation is looser

Economic growth initially tends
to increase environmental

damage

Government should promote
that

technological externalities

industries yield

Codes :

(A)
(B)
©)
(D)

(@ ()
(@) Gv)
(1z) (i)
@) (@v)
) @)

() (@)
@ ()
@) @)
@ @)
(@) (1)

APR - 11317/111—C

18. el e :

(@)

b)
(c)
(d)

@)

(i1)

Tt 1
STk TRT0T STt Y SIUTRTY
ST YR Toredl Soaret o
TS IeRd

FHEiedl TR T

IR YR Fishadl Ffokeng

FJefad SR ERom=n a1 fagr
et 11

fafere e =Ter QA QRI

He THeUATET YRl 1 STEd 2

ISCRERELRNIRECIH

(i) STfe® gl Feamdral THeRoira

A A i

(v) S SEN TAAECHS STeddr Ao

FA A FHRA e foeft
RIS

Hehdich :

(@ ) @© @
A) @) Gv) @) @)
B) @) @) Gv) @)
(C) @) Gv) @) @)
D) @) @O @) @)

10



19.

20.

An economic transaction is entered
in the Balance of Payments as a

credit if it leads to :

(A) The receipt of payments from

foreigners
(B) a payment to foreigners
(C) asurplus in the current account
(D) a surplus in the capital account

In an open economy, policy makers
try to maintain internal balance

that is characterized by :

(A) Current account level that is
neither so negative nor is so

positive

(B) The high value of domestic

currency

(©)

Exports exceeding imports

(D) Full employment and stable

price level

19.

20.

APR - 11317/111—C

TEE 3Mfde FTERAAT STHT @Il

el ol ehell Sl Steel

(A) TRHFHET YSH Wl B

(B) WHHEMT Y &l S

(C) =e ETERR e TEd

(D) Yreda Wcaer 3TfYe Tgd

T ASHTIT GRS ST Fger

QI S YIS hdd ArE GHE

ElEo IR

(A) =Te] ST UTdes! 3TeM i St R

U Al enfor et e

(B) WIo¥T T oI 3=d 3Tl
(C) sTEwen fraf sAfuew s
(D) gl ASR eArfor feer fewa

Tcfeat

11

[P.T.O.



21.

22.

23.

As per the money stock measures

defined by the RBI, the Mg is
denoted by :

(B) M; + Post Office savings
deposits

(C) M; + Time deposits with the
public

D) My - M,

The abbreviation CRR suggests :
(A) Cash Reserve Ratio

(B) Central Reserve Ratio

(C) Combined Reserve Rules

(D) Central Reserve Rules

Write the following banks in the
proper sequence on the basis of their

years of establishment :
(2) IDBI

(1) SIDBI

(ii) NABARD

(lv) NHB

Codes :

A) @) @G G (@Gv)
B) Gv) G G) @)
C) @& Gv) @) @)
D) @) @) Gv) @)

21.

22.

23.

APR - 11317/111—C

Rerd deh=n Tvar= A= SATATER
M; =S
(A) M; + M,

(B) M; + WEThEd &= EIeAwe
ThHT

(C) M, + ®ISga H3d Seidid
TR

D) My - M4
CRR = YU &9 g=al :
(A) =3 T e

(B) ¥z fgre whsh

(C) wE< 5 w9

(D) I=a o=k wc

AT Fi=A1 SERTIR et Skt
It wEAR forer

() IDBI

(ii) SIDBI

(iii) NABARD

(iv) NHB

Hehdich :

A @) @) @) (o)
B) Gv) @) @) @
C) @ Gv) @) @)
D) @) @) (v @)

12



24.

25.

26.

Which of the following is not
principle of bank lending ?

(A) Collective responsibility
(B) Liquidity

(C) Security

(D) Profitability

Life Insurance Corporation of India
(LIC) has committed an investment
in Indian Railways. This investment
amount is .........ceeeeeeeenns .

(A) Rs. 1.25 Lakh Crore
(B) Rs. 1.50 Lakh Crore
(C) Rs. 1.75 Lakh Crore
(D) Rs. 2.00 Lakh Crore

(1) The Micro, Small and Medium
Enterprises Development Act
was passed in India in 2012

As per the MSME Act, the
micro enterprise from service
sector should have at least
Rs. 5 cr. investments.

(@)

What can you say about both of
these statements ?

Codes :

(A) Both Statement (i)
Statement (i) are correct

and

(B)

Statement (7) is incorrect and
Statement (i7) is correct

(©)

Statement (i) is correct and
Statement (i7) is incorrect

Both Statement (i) and
Statement (ii) are incorrect

(D)

24.

25.

26.

APR - 11317/111—C

AT ShIUd SehT=l hSiaears a<d

T ?

(A) FrHfeeh SereRr]

(B) dXedn

(C) gefaraan

(D) <Yl

YR Sitaq o Hemes, YR 3ed-

TEY TAIUHIATS! TaTEG STR. AT

ISER] J R

TAh! TR

(A) % 1.25 @RG IS

(B) % 1.50 @’G <hlaT

(C) % 1.75 @R”G IS

(D) %. 2.00 @RG IS

(i) WA G&H, Y S0 7eqH SUhH
foerTd ST 2012 T 9RIG STl

MSME S8R Fa &=t g&H
Uk foRAM e €. 5 I

AT Ife.
a1 =gl fagrfasEt s w19
e ?
i
(A) B faEm () S (i) SR e

(B) faum (i) =6 e snfor faem (i)
TR 3T’

(C) fa&m (;) sRisr 2me enfor faem (i)
T 38

(D) <&l faum (@) snfor (i) Ik 3fed

5
5
®
*

(@)

13
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27.

28.

In Global Competitiveness Index
(GCI) 2016-17 India stood at
rank.

(A) 36th
(B) 39th
(C) 44th
(D) 48th

.............

Identify the correct statement :

(@) 1999,
Committee Report regarding

In Rangarajan

software exports was submitted
to the Government.

1971,
Chakravorty Committee Report

In Sukhamoy

@)
Regarding RRBs was submitted

to the Government.

In 1969, S. Dutt Committee
Report regarding industrial

279)
licensing was submitted to the

Government.

In 1985, R.K. Hazari Committee
Report regarding sick industrial

(@)

undertakings was submitted to
the Government.

Codes :
(A) Gv)
B) ©
(C) @)
(D) @iD)

27.

28.

APR - 11317/111—C

WRATET 2016-17 3T S STk TIeicHeh
TR [
BIdl.

(A) Sga

(B) TahIvETSHAT

(C) SR=TesTaT

(D) STgATESEan

ek faum sfiesen :

1999 T TE TFRAT (|eeRR) faia

THRET X shell Bl

(i) 1971 ALY €T UTHIOT Ahiiosi=n
Thad] WiAdET STgaTd
TLHTAT HeX shell Brdl.

(iii) 1969 \EA NfiTer gLar=n fasr=n

T GfadEn STeaTd ThIal |l

shefl Bl

(iv) 1985 ALY A AENfTeh SUHHI-
fasr=i AR, BRI Giadr=l

3BT TIHRAT e hedl eil.
PO
(A) (v)

@)

(B) @
©) @)
D) i)

14
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29. Which is the correct descending 29. \ﬂl“cncr] e 3cdlqch W@aﬁa’{‘m
order of sugar producing countries 9 FO 2
in the world ?
(A) SIS, 9Rd, e, e
(A) Brazil, India, Cuba, Russia
(B) HRIa, oEiel, WM, 9Rd
(B) Cuba, Brazil, Russia, India
(C) Brazil, Cuba, India, Russia (C) S, e, e, TRTe
(D) Russia, Brazil, Cuba, India (D) e, SEfier, e,
30. Inductive analysis of choice of | 30. IETT=a1 TeAfAfYwdar  fagia
location for industry is given by : fermeeeHeR e RIRIKIER
3.
(A) Sargent Florence
(A) TSl TR
B) Alfred Web
V) alired Weber (B) erehs
(C) Hoover (C) TR
(D) Losch (D) <
31. According to Census 2011, the | 31. 2011=1 STFUHIER ARAE ARdE
median age of India’s population was HIE FE s T8 B
................................ years
(A) =eE
(A) 24
(B) HxmE™
(B) 27
(C) 35 (C) T&dE
(D) 46 (D) TS
15 [P.T.O.



32. Match the following :

List I

(State)
(i) West Bengal
(iz) Kerala
(z11) Uttar Pradesh
(fv) Bihar

List II
(Density of Population 2011)
(@) 829
(b) 860
(c) 1028
(d) 1102
Codes :

@ @) @) ()

A) @ b)) (© @
B) ® @ (@ (©
©€) © B (@ @

D) d ) G (@

APR - 11317/1I1—C

32. Sedl e
il |
=)
() uf=m I
(i) B
(i) ITLIR
(v) R
T 10
(REE=l a=ar 2011)
(@) 829
(b) 860
(c) 1028
(d) 1102
Hehdich :
@) Gi) @) Go)

A @ b © @
B) ®) ) (@ (o
©€) © b (@ @

D) d ) ) @

16



33.

34.

Which of the following is reason for
population explosion ?

(A) Highest birth rate
(B)
(C)

Highest population growth

High birth rate and low death
rate

High birth rate and high death
rate

Match the following :
List I
(State)

(D)

(@) Bihar
(b) W. Bengal
(c) Kerala
(d) Maharashtra
List II
(Density of Population
per sq. km. 2011)

(i) 365
(1) 1102
(12) 1029
(iv) 859
Codes :

(@ ) @ (@@
(A) @) @) Gov) @)
B) ) Gv) @ @)
(C) @i) Gv) @) @)
D) @) @ G @)

APR - 11317/111—C

33. WTAAUhR]T HITA HIT ATHH ST

foeheE g ?

(A) Faifas SRT

(B) Faifesh TRdEAEe

(C) 3=d ST 3mfur = JogeX
(D) 3=9 X 0 I== FogeX

34. Sire Sl
et 1
(I=3)
(@) To=R
(b) U. A
(c) D
(d) TR
e 11
(eT =, fedt, =@

TeREE=l et 2011)
(1) 365
(i) 1102
(i) 1029
(iv) 859
Hehdieh :

(@ b)) () ()
(A) Gi) Gii) Gv) @)
B) Gi) Gv) G) (i)
(C) Gii) Gv) () (i)
D) Gv) @) @) GD)

17
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35. Fill in the blanks :
Census of India
1991 2001 2011
Density of
population ? ? ?
per sq. km.
(A) 247, 336, 391
(B) 257, 314, 362
(©) 297, 334, 372
(D) 267, 324, 382
36. Match the following :
List I
(Schemes)
(@) Crop Insurance Scheme
(b) Pilot Crop Insurance Scheme
(¢) Comprehensive Crop Insurance
Scheme
(d) National Agricultural
Insurance Scheme
List II
(Years)
(z) 1985
(1) 1999
(z11) 1979
(lv) 1973
Codes :
(@ b)) (©© (@@
(A) G@v) @) @) @)
B) & @ @) Go)
(C) @) @ (v) @)
D) Gu) @) @) @

APR - 11317/1I1—C

35. el S 9 ¢
el YTt
1991 2001 2011
=T AL T
UMl leh- ? ? ?
&I ST
(A) 247, 336, 391
(B) 257, 314, 362
(C) 297, 334, 372
(D) 267, 324, 382
36. SIedl @M@l
el 1
CISED)]
(@) Ui fa|m I

(b) YR Yen fomr A
(c) dWEAIh Ter famr s
(d) TsA Feft fom Fer
T 10
(TTTAT TS)

G) 1985
(i) 1999
Gii) 1979
(lv) 1973
Hehdiah :

(@) (b)
(A) (v) Gii)
B) @ @)
©) Gi) @)
D) (i) Gv)

() (@)

@) @)

@) (v)
() ()
@) @
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37.

38.

39.

In the context of institutional
finance to Indian agriculture for the
year 2014-15 the percentage share
of cooperatives and commercial

banks was approximately

................

and ........cceeennnnnn. respectively.
(A) 17% 71%
(B) 27% 55%
(C) 10% 90%
(D) 30% 60%

The report of the Task Force on the
revival of short-term and long-term
cooperative credit structure is based

ON e .
(A) Vidyanathan Committee
(B) Vyas Committee

(C) Narshimhan Committee
(D) Tendulkar Committee

Which one of the following is the
correct representation of least cost

combination of resources ?
(A) (AXo/AX;) = (PX,/PX,)
(B) (AXy/AX;) = (PXy/PX;)
(C) (AXy/AX;) + (PXy/PX;)
(D) (AXo/AX/(PXo/PX,)

37.

38.

39.

APR - 11317/1II—C
2014-15 IEST 9RAE Sdien feeten

HEATHS  farqiasard WehRl ST

sTIgfaa dwren feem oTImA SN

(A) 17 2Rk 71 Fh
(B) 27 <% 55 TFh
(C) 10 ZFh 90 <TFh
(D) 30 TFK 60 THFh

3 3T STelehTel= Teeh il Ud S

qR=AT fasei=n Fdlcard sTedrd

(D) dgaehT Afhdt

quEA A aitemd "9
fo=fite Erelladsl HIUd Th Tk
e ?

(A) (AXy/AX;) = (PX,/PX,)

(B) (AXy/AX;) = (PXo/PX,)
(C) (AXy/AX;) + (PXo/PX)
(D) (AXo/AX;)/(PXo/PX,)
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40. Given below are two statements, one

lebelled as Assertion (A) and the

other as Reasoning (R) :

Assertion (A) : MGNREGA is
providing em-
ployment to at
least one mem-
ber of eligible
household for a
minimum period
of 100 days in a

year.

Reasoning (R) :Right to employ-

ment is enu-
merated in Part
III of the Consti-

tution.

Select the correct answer from the

codes given below :
Codes :

(A) Both (A) and (R) are true and

(R) is the correct explanation
of (A)

(B) Both (A) and (R) are true, but
(R) is the

explanation of (A)

not correct

(®))
(D)

(A) is true, but (R) is false
(A) is false, but (R) is true

APR - 11317/111—C

40. Telid g9 faumitest T gfquey (A)

afor W gfwarg (R) 3.
Yfaures (A) : T Melt T TSR
BHI shTEET (HAUT) g

731 A fohHT TehT

S CNGINCEIGEIRCT b

100 feer® TSR geforet

SiGIA
AT 9 dHHEd

ST Bk <TG ohel

TR,

TTeite feeed TaramYA ST St
e =0 .

- -
-
-

ferarg (R) :

(A) (A) =7fo (R) <2l ed 3Trea AT
(R) ¥ (A) ¥ 379 TILHI 37T

(B) (A) 37ft1 (R) <l | 31ed, W
(R) T (A) 3 T TILIHI TG

(C) (A) ¥ 93 T8, g (R) T 3T8A
3T

(D) (A) T WA 3, W (R) § I
3Te
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41.

42.

43.

If Q = 10 — 2P, then the Marginal

Revenue function is given as :
(A) 10Q - 2P.Q

(B) 10 — 4P

(C) 10Q + 2PQ

(D) 10P + 2P?

Accepting a false hypothesis results

in this type of error :
(A) Type I error

(B) Type II error
(C) Structural error
(D) Hypothesis error

In Input-Output analysis Xij is used

to represent :

(A) Output of ith sector used as

output in jth sector

(B) Input of ith sector used as

output in jth sector

(C) Output of ith sector used as

input in jth sector

(D)

Input of ith sector used as input

in jth sector

41.

42.

43.

APR - 11317/111—C

ST Q = 10 — 2P 18a @ HHifas
It Ted Tell feeledn Hwelldeh! Shivd
e ?

A) 10Q — 2P.Q

(B) 10 — 4P
(C) 10Q + 2PQ
(D) 10P + 2P2

YMeh Iehegd=l WihR oI =
gfurd) @reiietieh! ShivedT JHE ald 2

(A) TR I YHIE

(B) 9T II 9HIS

(C) I=HIcHsS YHE

(D) 9ReeTT YU

~

ffafse-3 faRersroma X, A
ITANT WATeTUeh! hivIdT ST <9ifervamdrer
B ?

(A)

~
[

[ 1 &l 3G j AT &ATel ScdIeH
RUH STqeodTd 3T
;= g fAfafte j = el s
U S0 ST
i 31 S 3Icqre j A &t fHfafte
RUH U 3T
(= e fafafte j = demdier ffafte
RUH STqeoATd 3Tl

(B)

(®))

(D)
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44. ‘Dummy’ variables are means of

45.

introducing

regression models.

(A) Quantitative regressors

(B) Qualitative regressors

(C) Both (A) and (B)

(D) Power

Input-Output model which has
endogenous final demand vector is

known as :

(A) Open Input-output model

(B) Closed Input-output model

(C) Non-linear model

(D) Indeterminate model

APR - 11317/111—C

44, Hicqd TN o) YaomHr gfqHmEr-

45.

........................

WU hell STl

(A) T&IHS GfauiHeh

(B) T[UMcHeR  fdqaeTHeh

(C) T (A) =7t (B)

(D) ©ITdieh

o1 THfafe—sfgfe wfaammen sasia sifaw

qUTon gy 319al o AfqHmre

TEUTT.

(A) Ta Hfae-3fgfe afamm

(B) =fewa FHfere-sfgfie wfqam

(C) 3o wfqa

(D) HfF=Ea wfaam
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46.

47.

Indirect least squares procedure of
estimation is appropriate when

simultaneous equations are :

(A) Over-identified

(B) Under-identified

(C) Exactly-identified

(D) Not identified

The method used to analyse the
stochastic properties of economic
time series on their own is known

as :

(A) Exponential smoothing method

(B) Single-equation regression

model

(C) ARIMA model

(D) VAR model

46.

47.

APR - 11317/111—C

TeRROTTE STICI& STewH &t Wfsha &

AT 3TEd Siegl THAMIE FH!

(A) 3fd feeE geaaial

(B) =7 3fz@ Teaer]

(C) HHYUH 3T Tl

(D) 3NBE 9 Teddd

ek hTel FereTr=a JHUT TUrEH=

fITA™U Tod:gd FLvAEE SUAI

SOTATAT TGl

(A) =dhA Gledld 5

(B) T GHRO FagmHH IfdH=

(C) THIYAIIHT TehTcHTShL0T Ties TIEd
gfaa (ARIMA)

(D) gfesT I 9fd@= (VAR)
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48.

49.

If a Durbin-Watson statistic takes a
value close to zero, what will be the
value of the first order auto-

correlation coefficient ?
(A) Close to zero

(B) Close to plus one
(C) Close to minus one

(D) Close to either minus one or plus

one

What will be properties of OLS
estimator in the presence of

multicollinearity ?

(A) It will be consistent, unbiased

and efficient

(B) It will be consistent and

unbiased but not efficient

(C) It will be consistent but not

unbiased

(D) It will not be consistent

48.

49.

APR - 11317/111—C

SR eA-aEHA Hiiaeis Y1 Sefos
e U A W HYH HEE -

e U R God g 7

(A) IEI=AT Sed

(B) g W= (+1) SaBd

(C) SU THeAT (-1) e
(D) <9 U= fehell SAfereh Wkt el
wgfay TRt Sufterdia o Te. .
HhTIhTe TOIH IO ?
(A) o gua, FRfa 9 wriem o /ia
(B) 1 gua Nfor fRfYAa o&@ 9o
FHEGH T
(C) @ g T8« wu R &

(D) o I T8
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50. If we multiply both Y and X by 1000

51.

and re-estimate the regression, the
slope coefficient and its standard

error will :

(A) Increase by 1000 times
(B) Decrease by 1000 times
(C) Remain same

1

(D) Increase by (mj times

The Samuelson-Hicks type trade
cycle models will show instability as

well as cyclical fluctuations only.

(A) Income expansion equation
shows complex roots whose
magnitudes are greater than

one

(B)

Income expansion equation
shows complex roots whose

magnitudes are less than one

(C)

Income expansion equation

shows real roots whose

magnitudes are less than one

(D)

Income expansion equation

shows real roots whose

magnitudes are more than one

APR - 11317/111—C

50. THSM YU Y 2101 X 31 T8l 1000

51.

I F&AA O ST GITRTHA HTehaer
IRl shel, TR YU IO ST FHIOT
(A) 1000 TN =Tea

(B) 1000 &M =HewA

(C) wdl Tk TEA

D) (ﬁ) TN dlea
HRITH-fge Yehir= SR =rsh UfaH=

SAMET THH =eha Sgel hivred Terdia

Tefeet ?

(A) IO TR FHIH S W Hooral
qRETT kT Sifees TR

(B) ST TER0 HHIHT S HiHS el
TR ThTHET A R

(C) 3T TELUT THIHIU 1Y aRfoeh

e qRHTT THIUET FH TEd

(D) 3T IO FHIHIO S SR<foeh

oz TRATT ThTIeN W e
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52.

53.

When a monopolist is in a position
to sell each separate unit of a
commodity at a different price, it is
the case of

.............................

discrimination.

(A) Third degree

(B) First degree

(C) Second degree

(D) General

Match the following :
List I

(@) Baumol

®)

(c)

d)

Marris
Cyert and March
Marshall

List II
() Profit Maximisation
(i1)
(i12)
(iv)
Codes :

(@ (b)
(A) @) @)
(B) Gv) @)
(C) G@v) @)
D) G @Gv)

Sales Revenue Maximisation
Maximum satisfaction

Maximisation of growth rate

© ()
() @)
@) @)
() ()
@) @)

52.

53.

APR - 11317/111—C

Segl HhaR o&El U A resdn

fepmdte foep, wrepal degl @ feerdi™
(A) Tas==n goft=n
(B) wfgedn oir=n
(C) g&=1 ui=n
(D) HEHTERT
e A
i |
(@) STHHA
(b) =
(c) ¥erid emfor @4
(d) wRid
g 11
(i) TRl HEHIRL
(i) Tkl UTit HEwHIHL
({ii) HETH HHIHEM

(v) TS TS TETHH]

Hehdieh :

(@ () © (@
(A) @) @) Guv) @)
B) Gv) G) (i) @)
C) (v) & @) @)
D) @) Gv) G @)
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54. Equilibrium under excess capacity

and monopolistic competition occurs

where ....cooveveeeeeeeeeeen. .

(A)

(B)

(C)

(D)

Output is less than the one at
which Average Total Cost is

minimum

Output is more than the one at
which Average Total Cost is

minimum

Output is less than the one at
which Average Total Cost is

maximum

Output is more than the one at
which Average Total Cost is

maximum

APR - 11317/111—C

54. SATAReRT &THaT ST HeRIQTgeR Taeid a9

(B)

©)

(D)

foram T TR T adeeid
ICATSATI&TT TA&T 3Icd1ed AT

19

fram Tl TR T el

SCATSATARTT Ycde] Iculed ST

A9

FHHA TIER] THY T oo
SCUTEATTT Yedel Scure HHl

I

FHA TIE] THU T e

SCATSATY&TT Uod&l Scured  37fereh

I
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55.

56.

In case the technical progress in the
economy is positive, steady state
growth rate in Solow growth model

will be :

(A) Greater than population growth

rate

(B) Smaller than population growth

rate

(C) Equal to the population growth

rate

(D) Equal to population growth rate

minus the technical progress

rate

Which one of the following is not a

feature of customs union ?
(A) Abolition of Tariff
(B) Abolition of Quota

(C) Mobility of labour across

boundaries

(D) Common External Tariff Policy

55.

56.

APR - 11317/11II—C
AT qF WAt TS A
W Hieh AfYggl gfqama fer stereen

IS W TR HE TRA 2

(A) RIS FE U ek

(B) Wehu@A 9§ SUde ]

(C) TrehEe IS TU R

(D) WHEEA IS T 30 AR T

ey

WIATAUh] hI0d STehld Tem ofyTees
e ?

o o

(A) TRIehTE THCT

(B) wiear™ fHem
(C) S\T=N HHYR Tfaeietdn

(D) W Afeia e SR
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57. The main reason for the fall of the

Bretton Woods system was :

(A)

(B)

(©)

(D)

difficulty in attaining

simultaneous internal and

external balance without
discrete exchange rate
adjustments

difficulty in attaining external
balance due to the strong and
rate

discrete exchange

adjustment

difficulty in attaining external
balance without discrete

exchange rate adjustments

difficulty in attaining internal
balance without discrete

exchange rate adjustments

APR - 11317/111—C

57. 9 JeY FI=AT BN & R0

(A)

(B)

(®))

(D)

fafoaa fafma R gEESHRIE!

TSI Sfaid ST Sifetid T

T JUIT Sreq

o o

gad ofrfur fafg

~

od |

~

THT S

N bV o _C hd (aV
SIS dllld el Hlkild

JuIy aren

IEICESREIEERISE LI RIS R ERES
afgrid dqad grHed a4

a1

o~

(al

~

ENEEI

fa fa

T <X FHESH foifed

ATMA AqAT ITATHE AU

JqTE
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58.

59.

60.

An example of dynamic gain from

Regional Trade Agreement is :
(A) Trade creation
(B) Trade diversion

(C) Increase in the rate of product

innovation
(D) Improvement in Terms of Trade

Exchange rates quoted in foreign
exchange transactions specifying a
future transaction date one that
even may be several years away are

called as .....cccceevviveiiniiennnns .
(A) Spot exchange rates
(B) Forward exchange rates
(C) Vehicle currency rates
(D) Futures and options

Assured profit is involved in

in the foreign exchange market.
(A) Hedging

(B) Arbitrage

(C) Speculation

(D) Bargaining

58.

59.

60.

APR - 11317/111—C

iaf¥Teh SATIRIGH Scd=1 RO Tfaeie
A TH SR RN
(A) =R T

(B) =AM 3790

(C) a%] TAYSAT=AT S a1e

(D) AR I GEROT

Tk T THE SHEBRId TG sheldd wias

(A) wEEr=A

(B) AR TqUMETE

(C) wgssit=a
(D) "=
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shops are the
main reasons for

worry.
Codes :
(A) Both the statements I and IT are

correct and statement II is one

of the reasons for statement I

(B) Both the statements I and IT are
correct and statement II is the

sole reason for statement I

61. Statement I : The functioning 6l Faemw I :  wRaTSN SR e
of Public
Distribution T FHoRqUl ek
System of India i -
is severely L .
criticised fagm 11 :  wreESes foaeo sqaea-

Statement II : The leakages of HATeAT AT e

foodgrains g
meant for Public
Distribution o ghATaa fehse
System to the qire 9 REal & feie
open market and
supply of inferior Aqe U Hled.
grains in ration RdiF

(A) faum 1 onfor faem 11 & <=
foem sleX atrRa enfor faem 11 %
faum I 9 &Ru o’

(B) faum I onfor faem II & <t
foarem seR 3fea efor faem 11
foum I 9 i SR SR

(C) faum 1 snfr faem I & <=
foum s smed W faem 11 3

(C) Both the statements I and IT are
correct but statement II is not fgum I 9 SR @
the reason for statement I )
(D) faem I ssR e W faum 11 =
(D) Statement I is correct but the

statement II is incorrect

Sl
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62.

63.

The minimum cereal consumption
norm per month fixed for sustenance
level by the Indian Council of

Medical Research is ..... .

(A) 13.7 kg

(B) 12.6 kg

(C) 09.5 kg

(D) 11.6 kg

By and large, the profitability of

Indian agriculture ................. .

(A)

Increases with the size of holding

(B) Decreases with the size of

holding

©)

Is independent of the size of

holding

(D)

Initially decreases and then

eventually increased

62.

63.

APR - 11317/111—C

Y SITITHM UTdesieh {aTl Sfed shi-aTe

Atr Afewra fEd g e foam

(A) 13.7 fomen

(B) 12.6 foen

(C) 09.5 e

(D) 11.6 fwen

TAFIEROTU AT Foirel T~

(A) URUIEEATT SR RHMTSRIER dTed

(B) OO ATHRRAMERIE ¥2d

(C) HRUIERTT STHRAMINT W& 378

(D) GEAE ®ed 9 I e
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64. The Agmark seal for the farm | 64, q{i«“ feoron ‘sfmaTes | = fTeRnT
products is to ensure ................... . TR e H = e
(&) long life of product (A) STl et Tk
(B) Reasonable price (B) U= foaa
(C) Good packaging (C) STH UehsiT
(D) Grading and standardisation (D) YAl Ao FHe

65. The phenomenon of a ‘U’ shaped 65. 5 Hewwral S Fet forsprrEg i g
relationship between labour VU SRR GRS TedasT
attachment and agricultural ............................ 379 Eﬁq a?h
development is indicative of ..... . (A) gbqldﬁlcfn S F o 2R A
(A) after an initial decline as I T2 B S A T

icult devel it starts t
agriculture develops it starts to g g e 0
increase at later stages R .
(B) ATt s et fomm g asft
(B) after an initial increase as .
I A€ BId ST FACAT TTATAR
agriculture develops it starts to
a1 B
decline at later stages 3
(C) Feardien S Ffl foerrd grar asit
(C) after an initial decline as
. . . I S B SV AT TTATAR
agriculture develops it remains
at low level at later stages qE™ HEH el et T
(D) after an initial increase as (D) GRATITT ST 8 ThTH eIl
agriculture develops it remains T 918 B ST AT T
at high level at later stages qoE o Ydesia] ShiaH Ted
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66.

67.

During the year 2014-15, the

sectoral distribution of primary and

tertiary sectors in India’s GDP was

approximately .........cccccoiiiiiieeennnnn,
respectively.

(A) 30% 40%

(B) 20% 60%

(C) 8% 53%

(D) 16% 53%

In the context of social development,

GER suggests :

(A) Gross Enrolment Ratio

(B) Gross Entitlement Ratio

(C) General Enrolment Rate

(D) General Entitlement Rate

66.

67.

APR - 11317/111—C

2014-15 Jresit WafHes T qota Tan
e feem aRaren <y Sdnfedr-
.q@aw ................. o —Eﬁ?ﬂ.
(A) 30 TFh 40 TFH
(B) 20 TFh 60 TFh
(C) 8 T¥h 53 &
(D) 16 TF» 53 TFh
TS fawg dguida GER =1 31

(A) TJ& FiRUlt TORR
(B) ¥ Afrhd g TUIRK
(C) &R Higuft TOMRR

(D) WHERY AfFHd gFh TONR
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68. What can you say about the

following statements ?

Statement I: The Green
Revolution in
India led to rapid
growth in the
production  of

wheat and maize.

Statement II: The Green
Revolution led to
wide disparities of
income in rural

India.
Codes :

(A) Statement (I) is correct and

Statement (IT) is incorrect

(B) Both Statement (I) and

Statement (II) are incorrect

(C) Statement (I) is incorrect and

Statement (IT) is correct

(D) Both Statement (I) and

Statement (II) are correct

APR - 11317/111—C

68. TaTd faurararad gl & /UL

Irehal ?

faam I @ 9Raia 3Ra sidge g
ST 9Tdr=A IcqTeATd
SR EAREICR

faam II : 3@ ®dge YRaa
YTHTOT Sq=1d <ol fersreett
frmtor e,

Hehdiah :

(A) Taem (1) sie 31e for faem (10)
IF 3T

B) faum (1) sufor faam (1) & <t
faam g% aRd

(C) faum (I) g e efo faem (10)
ERCIEC I

(D) faum (1) o faum (1) & et

faum sOeR a1meq
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69.

70.

In India, during the planning
period, the structural change is
taking place rather slowly, mainly

due to :

(A)

Slow annual growth rate of

tertiary sector

(B) Slow annual growth rate of

manufacturing sector

(C) Stagnant growth of tertiary

sector

(D)

Negative annual growth rate of

agricultural sector
Fill in the blanks :

% of Indian Population in 0-6 age

group.

Census of India

1991 2001 2011

? ? ?
(A) 19.0 18.15 17.94
(B) 1864 16.15 15.12
(C) 1794 1593 13.12
(D) 18.15 16.50 15.00

69.

70.
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RIS T YRAMES SLEAHS ded

HTEET HIEhRIST BId e, AN &

(A) Tan == aiftieh SAfqgG=n &
S8

(B) &I &mean aftieh stfiggian
DICIIE

o~

[3d <X

(C) Ta1 &= el &

(D) It e At Afuggen S0
T
AT S 9

0-6 I TANETIA AThEEId ZoRhd

THOT ¢
ORaAre! RTeToTd
1991 2001 2011
? ? ?

(A) 19.0 18.15 17.94
(B) 18.64 16.15 15.12
(C) 1794 1593 13.12
(D) 18.15 16.50 15.00
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71. What can you say of the following

statements ?

Statement I : In the first stage

of production, the
mp of the variable

factor is negative.

Statement II : In the third stage

of production, the
mp of the fixed

factor is negative.

Codes :

(A)

(B)

(C)

(D)

Both Statement (I) and

Statement (IT) are correct

Statement (I) is correct and

Statement (IT) is incorrect

Both Statement (I) and

Statement (II) are incorrect

Statement (I) is incorrect and

Statement (II) is correct

APR - 11317/111—C

R faaHeed Rl ®E q9ma ?

faam™ I :  3SdEA= ufged 2o

‘e sifeeR TurRYg

THNIHS  3TR.

faeam™ II :  Scqeqren fag==n o=
‘THd = feeR TR

TRNHE  3TR.

- -
-
.

(A) faam (1) sufor faam (1) & =t
ST 3ATed

B) faum 1) s’=R 9 faum (11) T 1’

(C) faam (1) sufor faam (I1) & gt
Ik 3R

(D) faam (1) % 3 fagm (1) s
e
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72. What can you say about the

73.

following statements ?

Statement I : In a competitive
market, P > MC
and in a monopoly

market P = MC

Statement II : Since a monopolist
is the sole operator
in the market, he

is always bound to

make huge profits.
Codes :
(A) Both Statement (I) and
Statement (II) are correct
(B) Both Statement (I) and

Statement (II) are incorrect

(C) Statement (I) is incorrect and

Statement (IT) is correct

(D) Statement (I) is correct and

Statement (IT) is incorrect

Baumol’s postulation of oligopolistic
firm’s aim of sales revenue

maximisation is subjected to ....... .
(A) Minimum loss constraint

(B) Minimum profit constraint
(C) Maximum profit constraint

(D) Maximum loss constraint

APR - 11317/111—C

72. @A foumieEa gRl ®E RUad 2

73.

faeam= I :  TouicAss SR fhad >
g@ 9 Hhell aeR
foma = 9@

faam™ II : 9ocR, 8 JeRKe Thid
fashdl TaeAT  TATdl
EHE Sod T THeAd 3Tl

Hehdiah :

(A) faum @) 3 fasm d0) & =
SR SR

B) fagm 1) 3 fagm AD & =
I e

(C) faum (I) e 9 faum (I1) sl
e

(D) fa&m (1) s & fagm 1) I
e

TSR WEAAT fasht Seg=T

HEHeR LT Seral iR
(A) ToFAm e wE
(B) fomm w1 Haaiar
(C) WexH Thl WAl
(D) weww diel HAw
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74. Identify the incorrect statement :

(1) In perfect competition market,
price elasticity for the product

is infinite

(2) In monopoly market, cross
elasticity of demand for

commodities is near zero

3)

In the monopoly market, entry

into the market is easily possible

APR - 11317/111—C

74. GAAUR gehrd faHE e

(1) qof Taef=a sISTRIA sqea ARt
Aeehdl 3Hd Saehl STHd

(2) FHERI AR T[T AR &5eh
Aafaehdl Sawsde Y 3dh!
3TEd

(3) HheR! STSIRId Ya3T hivl TasT I
T9d

(4) In perfect competition market (4) U1 THEAT SIS JST hiv] Afaer
entry into the market is very g T
easy e
Codes :
(A) 4)
(A) (4)
B) (1) (B) (1)
C) @) C) 2
D) 3) D) 3)

75. The kinky oligopoly demand curve | 75. SATfasmATfEI®T STHARTAT ATHII
theory was put forward by ............ HRTOfegR Jqr gredt
IN ceeiiieeeeeees . qrsa.

(A) Paul Sweezy 1939 (A) e =it 1939
(B) Paul Samuelson 1948 (B) i ﬁvgaqmq 1948
(C) Pigou 1931 Q) fq'll 1931
(D) Paul Sweezy 1931 (D) dfel e 1931
39 [P.T.O.
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